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Set h= j-’xs-k:f. Twew  h(x,0)+ j(,‘x o)~ x> £ (~, 0)

lLQ.dll’\j ovim lCG.leLJ tevim

so deg ((x0)) <5 ansh T, (45)-T, (% N

R&P.aaﬁvtj TM]E; pro Cess —pl'lm'J—e[U l/vwna:,) "HWULS CSW;"]"CL.iMj Twe ordu

ot Twe cvves when uuxsowg), we emd up ih toge I 3

Thw: Mue is a umique intersection #so\ﬁsﬂgiv\j L) -?BJJW\'M by

I p(’c»j\) = dimny (Cr (/Al)/(& 33)

Pf: We olveady showed  wmiquencss, s we just hed o thow it safisfie
Twe propendties.

2) &) P VANV 3 he(£4) S k) wf h(P)*o0.
& J a umit in (.),BCC) (A

& dim (oP(h‘z)(j,jb O.

b) 1£ £=£45, omal £, doesn't poss Thwugl P tm Fis a umit in O (R)
w ($.9)- (5, 9)< O (A)

43 Obviows.

.'}'} (.J')j) = (:f‘)j+auc)‘



3) An affine choms ok o rdinuteS  rpdiies an isomorphism o local
rings, so Tis holds.

Fov DJ ‘;-)J ol C-)) see. Fulon. O

Ex: f = (?"7'*'31)3-47;1'(31 and 9° (zz-Hazy' +57(zg -L33) P - (_o)o),

what 15 Lp(4,4)?

Notice :  F- ('X?' +3‘)J = = "!’xln" -(’bzz'a -1133 (Xt"ﬁz)
=4 L‘“ wy - (3= 47) (" +y7))

——

h

S T,(5,9) ~T,(3,h) + T, (q,4)

Now e Comtinue b‘& using e mevod flom e proof:

W has lr\f?'/\b((- dj.j)'-l—tvm —?)'qu ol J hag .

S we Vclola(:e. h l,,‘a h + 33 =—"I9tzt3-3?(q'letgLJ-‘}q+'5(9(q+27(zljl""~:]q+37fzj’bg>
= Eng +Ll9r232+'4u14 -3133
=y (a4 Ha'y +'493-3L3?')
N -J_ ¢ 9
9




) IP(:FJJ\= Il°<j~’ T}*—ZIP(\],?D
Tomgat liveg o 4 ave Vox H\FT 4, w 4 ad g have no

fangout lines in cmmon, o
Telg9) =m () m, (432 -6,

I,,(}»}):Ip(wj g 4, 0 T(F9)706+2:9=14

One move propety o Twe intagechim mumbes:

Pop: F Pis w vimple point of 4, thn To(#9) = ordf (5)

Ei We  com assuma F s ivedudible (l'ng Fov%{’h'wj o~

Covm{aal/uwz‘f's)-

Jivite ©\° (Dc) 5 o DVR} owa,(j) = dimk (OP(%j)).

Ae(N)/  ~ Qe (&), . @,
Ky E 06w "/(ac/,j)—~ (.1



